From my analysis, I determined that the Dental Practice should not accept the offer

from US Dental Care.

Below is my analysis:

Age Group
  Covered Lives

Capitated Payment
Average Payment

20 – 30 years     46% of 1112 = 512

$66,808.96

130.49 per patient


30 – 40 years
  53% of 1666 = 883

131, 497.38                 148.92 per patient

40  - 50 years     37% of 1177 = 436

110,826.32                  254.19 per patient

Total Covered Lives 1490                              $309,142.66
Weighted Average Payment  $309, 142.66 / 1490 = $207.48


I used the 1,490 as the number of patients that the Dental Practice would treat.

I took the number of covered lives per age group and distributed them according to treatment.

Age Group
Perio
Op
Prosth

Endo
Total Patients/Age Group


20 – 30
256
128
128

0
      512


31 – 40
252
379
189

63
      883

41 – 50
131
196
  44

65
      436

Total Patients

Per Proc
639
703
361

128
     1490

Based upon the price per procedure that the Dental Practice charged, it would
Have received the following:

639 x 152.29  = $  97,313.31
Perio


703 x 270.92  = $190,456.76  Oper

361 x 232.99  = $  84,109.39  Prosth

128 x 121.85 =  $  15,596.80  Endo

Total                  $387,476.26

According to the Dental Practice, its costs are as follows:

639  x  85.87   =  $54,870.93  Perio

703  x 110.69  =    77,815.07  Oper

361  x 104.12  =    37,587.32  Prosth

128  x 116.95  =    14,969.60  Endo

Total                =  $185,242.92

Consequently, if the Dental Practice accepted the offer, it would experience a loss.

Gross Revenue
$309, 142.66

Less Expenses               185,242.92

Less Opportunity

Cost of Forgone
Profit


   202,233.34   (Difference $387,476.26 – 185,242.92)
Loss


   (78,333.60)

The weighted average capitated payment that would enable the Dental Practice to break –even is $260.05 ($387,476.26 / 1490).

